
Operation Operations                                                                                      Day 11
Skills: Expanded form, figures and words, Ordering numbers, decimal place value, understanding multiplication, summing decimals  

1. In an adult church service, there were three hundred and 

fifty-four women and two hundred and thirty-three men 

in attendance. How many people were at the service?  

 

_______________ 

 

2. Add half of 432 to a third of 90? 

( 
432

2
 ) + ( 

90

3
 ) 

      _______  + _______ =  ______________       
 

3. Complete the table below with the appropriate figures 

and words 

 

 

 

 

 

 

 

 

4. Arrange the numbers in the place value chart below, 5he first 

one has been done for you. 

 
5. Perform the operations on the decimal numbers.  

 3 2 . 7 4  3 2 . 2 4 
+     3 . 6     − 2 3 . 6     

    
 

6. The Rochenback train made 
three stops on Tuesday. It left 

the first stop with 60 people 

onboard and picked up 243 people at the second stop. At 

the third stop, 150 people got on and 74 people got off the 
train. 
a. How many people were on the train after the third stop? 

__________ 
b. Write this number in expanded form. 

__________________________________________________ 

c. When did the train have the highest number of people? 

__________________________________________________ 

 

Words Figures 

One million, two hundred and ninety-
three thousand, four hundred and five 

 

Four thousand, two hundred and fifty  

 24,879,200 

 1,891 

 267 

 Th   Unit Tenth   

24.226   2 4 2 2 6 
100        

1240.01        

30.15        

19.267        

1        
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Multiplication and Division: 0, 1, 2, 3, 4, 5, 6 and 7 tables 

× 6 3 7 4 9 12 11 1 8 2 10 5 
6             

2             

3             

4             

7             

0             

1             

5             

 

 

 

 

 

 

 

 

 

 

 

𝟒 × 𝟗 = 𝟒 × 𝟕 = 

𝟐 × 𝟕 = 𝟑 × 𝟖 = 

𝟒𝟐 ÷ 𝟕 = 𝟐𝟒 ÷ 𝟒 = 

𝟗 × 𝟓 = 𝟑 × 𝟏𝟐 = 

𝟓𝟒 ÷ 𝟔 = 𝟓𝟔 ÷ 𝟖 = 

𝟖 × 𝟕 = 𝟑 × 𝟖 = 

𝟕 × 𝟔 = 𝟕 × 𝟏𝟐 = 

𝟒 × 𝟖 = 𝟕 × 𝟕 = 

𝟓𝟒 ÷ 𝟕 = 𝟏𝟒 ÷ 𝟐 = 

𝟔 × 𝟏𝟏 = 𝟏𝟔 × 𝟓 = 

𝟔𝟑 ÷ 𝟗 = 𝟓𝟒 ÷ 𝟔 = 

𝟐𝟑 × 𝟖 = 𝟖 × 𝟕 = 

 

 𝟒 𝟖 
× 𝟐 

 
 

 𝟗 𝟒 𝟐 𝟖 
×   𝟑 𝟏 

 
 

 

 
 

  𝟒 𝟕 𝟖 
×   𝟒 𝟔 

 
 
 

 

 𝟐 𝟎 𝟕 𝟑 
×   𝟓 

 
 

𝟓𝟒

𝟐
= 

𝟒𝟐𝟗

𝟑
= 

𝟒𝟑𝟎

𝟓
= 

𝟑𝟔

𝟔
= 

𝟑𝟏𝟐𝟖

𝟖
= 

𝟖𝟓𝟖

𝟏𝟏
= 


